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_A1_E6_8B_9F_E9_c86_164743.htm 25. The passage suggests that

which of the following is true of the structure of cycad cones？ （A

） The structure of cycad cones provides conclusive evidence in

favor of one particular explanation of cycad pollination. （B） The

structure of cycad cones provides evidence concerning what triggers

the first step in the pollination process. （C） An irresolvable

discrepancy exists between what the structure of most male cycad

cones suggests about cycad pollination and what the structure of

most female cones suggests about that process. （D） The structure

of male cycad cones rules out a possible mechanism for cycad

pollination that is suggested by the structure of most female cycad

cones. （E） The structure of male cycad cones is consistent with a

certain means of cycad pollination， but that means is inconsistent

with the structure of most female cycad cones. 100Test 下载频道开
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